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Level 2 Geography, 2018
91242 Demonstrate geographic understanding of 

differences in development

2.00 p.m. Thursday 15 November 2018 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate geographic understanding 
of differences in development.

Demonstrate in-depth geographic 
understanding of differences in 
development.

Demonstrate comprehensive 
geographic understanding of differences 
in development.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL parts of the question in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.
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of gaining credits towards an NCEA qualification.

















Excellence Exemplar 2018 
Subject Geography Standard 91242 Total score 7 

Q Grade 
score Annotation 

 E7 

This paper answers the question comprehensively, integrating case study 
information, using geographic terminology and concepts. Therefore, it fulfils the 
criteria for an E7. 
The student consistently makes reference to the case study areas and uses 
specific development statistics to describe the differences that exist. 
The student quantifies the difference with a good range of development 
statistics and then comprehensively explains the factors that contribute to those 
differences in development that exist in different parts of the USA. 
The answer refers to a range of reasons and links to Rostow's model to provide 
a geographical background to the stages of development. 
The factor of geographical location is used well to explain differences in 
development that exist in different states of the USA. 
The case study of slavery as a historical reason for differences links well to 
spatial differences in development as required by the achievement standard. 
The student shows insight and a deep understanding of the reasons for the 
differences that exist and their impacts for the people of the USA. 

 




